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=) UPCOMING ONLINE BATCHES

07 DEC 2022

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

December 2022

14 DEC 2022 21 DEC 2022

07:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

14 DEC 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

ENGLISH

28 DEC 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

BENGALI

& www.mahendras.org e  7052477777/7052577777



16,

17, 35,

108, 425, 2126

1.35
2.425
3.108
4.17
5.2126




In a class, there are 25 boys and 50 girls. Each boy got pen that are 2% of the total
number of girls, and each girl got pen that are 4% of the total number of students.

Then find the total number of pens in the class ?

Tk HATH, 25 AZh AR 50 ASTHAT 2. TedAeh AASh il U foreT S AASferat il et HEan
T 2% %, 3R eI TS 1 U FreT A BT 3BT et EGAT T 4% 31 A HeT § horal
aﬁwuwaﬁzﬁﬁ'&

1.160
2.200
3.4
4.60
5.175



1.5, 2.5, 7, 24, 110, 5035

1.2.5
2.505
3.7
4.110
5.24




K wants to make a profit of 25% from selling a mixture of high-quality sugar and
low-quality sugar which cost 4rs per kg and 2rs per kg. If he sells the mixture at

3.75rs per Kg, find the ratio in which he mixed the two quality sugars ?

K 359 TUTST ATt Th=T 3R e Torerat sreft =it o fsror st S=m & 25% T ST AT AEar

T et hra 4 5o ufe fRet ofiv 2 sudr uta forat 31 afe a2 fsror &6t 3.75 s ufa frer fr e
| AT §, A1 I8 GF UTST ATt IR hi fohdl S13aTa § farerra?

1.1:
2.1:
3.2:
4.1 :
5.2:

wwerErk N PR



Pipe A and Pipe B can together fill a tank in 4 hours. But, if pipe A was stopped
for some time and then restarted, it took 6 hours to fill the tank. If pipe A is twice

as efficient as pipe B, then for how much time was pipe A stopped?

UTST A 3R UTST B Ueh AT Ueh Sehl Shi 4 T W W Tehe! & TITeh, 3R UTST U hl Y THI
foTu ek faam T aii o T & et fokar T, it 36 ot 9 6 52 &1 TTU) g Uty A,
U1 B | IRAT HITA 2, A1 UTeq A ot foha o o Torg Test T o2

1.1 hour
2.2 hours
3.3 hours
4.4 hours
5.5 hours




8, 17, 35, 71, 143, 277

1.35
2.17
3.143
4.277
5.71




Two pipes can fill a tank in 10 and 12 minutes respectively and a waste pipe can
empty 2 gallons per minute. All the three pipes working together can fill the tank in

6 minutes. The capacity of the tank is ?

2T UTSY Ueh ¢oh ol SHATT: 10 AT 12 fire § 9 Tehd & 211X Ueh AUTITE UTgw Ut fome 2 fre Eret
X THAT g1 THY T UTST Yok AT T T §Y S ol 6 THAC H WY Tehd & Eoh hi AT o1 82

1.120 ga
2.100 ga
3.150 ga
4. 200 ga
5. NOT

ons
ons
ons
ons



There are two mixtures A and B made by mixing milk and water in the ratio 5: 1
and 5 : 2 respectively. How much mixture A should be mixed with 14 litres of

mixture B to obtain a new mixture of ratio 3 : 1?

T4 R U ol THCATERT SHATT: 5: 1 31X 5: 2 o ST W & FI9ror A 3t B aTg T E1 3 @ 1o 19T
T Uk TAT 0T UTH A ok Fo10 gt A 6t 14 wtex fsror B & @y feraat e ST =onfzu?

1.4 litres
2.6 litres
3.8 litrer
4.10 litres
5.12 litres




55, 59, 68, 93,

142, 223

1.68
2.93
3.59
4.142
5.223




A and B entered into a business such that the sum invested by A is 2/5th of the
total sum invested by both of them and A invested his sum for 8 months. The

profit received by B is 3/7th of total profit received by A and B together. Find the

time for which B invested his sum?

A I B 7 Ueh 99T H 39 TR 9991 Terat for A grr fger & g vt sa et g Raor fir g
ST AT HT 2/5 WA § 3R A 7 FUHT AT hT § AEHT oh fo1g Faer forar 31 B 5T I8 19 A 3R B
T TH SHel T 6T 3/7 71 B = 31at Tivt o1 faer forer o <6 forg feram?

1.8 months
2.4 month
3.6 months
4.12 month
5.NOT




P can complete a work in 30 days when working alone. P works for 6 days and
then leaves. The remaining work is completed by Q and R in 12 days. If R alone

can finish half of the work in 8 days, then find the number of days that Q will

take to finish the whole work, working alone ?

P 3Tchel BT Xl THAT T dY Pl 30 el H QU HT bl §. P 6 Al dd dreT HLar & 3R
T ©I3 ¢ &1 AV BT Q3R RERT 12 At F qr fohar Siar &1 I R 31dhel 39 &reT &l
8 feal 3 QU A T &, A Q 37chel PIH A T I PIH Bl [T Al A b e oam?

1.80 days
2.150 aays
3.240 days
4.210 days
5.75 days




25, 26, 22, 33, 15, 40

1.40
2.15
3.26
4.33
5.22




The average age of all workers in a company is 46 years. The average age of all 75
men workers is 50 years and the average age of all women workers is 40 years. If

24 women are married, then how many women workers are unmarried?

Teh ShuT | Tl siftrent ohY oftea a1Tg 46 9 71 Tt 75 U6 yfient shi S o71g 50 99 3 iR aedft

aigeT giftrent sht SATEd 1Y 40 oY 81 A 24 ATRETTSA o1 foraTe €1 oot 2, a fehar afget rften
AAforaTtea €2

1.26
2.28
3.30
4.32
5.34



112, 116, 126, 140, 172, 236

1.116
2.126
3.140
4.236
5.172




A can do a work twice as fast as B and C working together. B can complete a work =Y
in 8 days and C can complete the same work in 24 days. Find the time taken by A to

complete the work?

A T T Rl B 3R C | FRTT d<it & Tk AT T T AkAT ¢l B Tk e oht 8 oot o oxr ot arewat
& 3R C 361 T T 24 TS H 90 T Ahat g1 T il 00 & H A FRT forar e o 7ma Hifr?

1.11 days
2.7 days
3.10 days
4.3 days
5.4 days



Ratio of milk and water in a mixture of 50 litres is 4 : 1. 10 litres of the mixture is
taken out from the mixture and then 3 litres of milk and 5 litres of water is added
to it. Find the final ratio between milk and water ?

50 1< ok TSroT H o1 S T <Rt JITUT 4: 1 81 TH0T | 10 et [HepTett ST 2 o fh 3o 3
et 3o 3R 5 e uTeht fRreTTaT ST 3 39 R U o sfrer Sifam erguTa JTa dhifg

1.33:14
2.36:13
3.34:9
4.35:13
5.NOT



P alone can complete 1/8th of the work 2 days, Q alone can complete 1/5th of the
same work in 4 days. They start working together and work for 4 days. The
remaining work is completed by R in 11 days. If the total amount paid for the

work is ¥ 1,240, then find the share of R?

P 3chel 2 f&aAl H Y &1 1/8dT HIIT QU Y Fhdl &, Q 3Hehel ZHT BRI B 1/5 AN 4 &t A
0 & Hhdl & 9 Teh HIY DA HIAT Y& Hd & R 4 &t & U HH A &1 A9 SR
RERT 11 fgat 3 qur foram Sirar ®1 3fE & & forw Horaray &1 18 Pol WA 1,240%, o R

el <ATd HIfard?
EEh) 5
<\ }\

1.X 592
2.3672
3.3 6382
4.X 785
5.NOT



The chart 1 shows the percentage of students in various courses and pie chart 2 shows the
percentage of girls.

Total number of students = 12000 = (8000 girls + 4000 boys)

are 1 Taffe uroTshar # ol & UIdRId @l gATar & 3R Urg I1C 2 oIsfhar & Ufaeid @ geidr &1 orEl 6
el HEIT = 12000 = (8000 *I3fhAT + 4000 WTSeh)

TOTAL

GIRLS




What is the difference between the number of girls in courses A and B taken

together and number of boys in courses D and E taken together?

TTGASHA A 3T B W TTSfohat shl €GAT TR UTGHHA D 3T E W TSRt ohl EGAT o siel T 3aX T

2?

TOTAL

GIRLS

1.560

2.1080
3.2110
4.3500
5.3000




The number of girls in course E is how much percentage more than the number of .

boys in course B?

HIH E W TISTRat hl WEAT, hid B W AShI ohl HEAT H Teha Tfavra o1feres 82

TOTAL GIRLS

1.8%
2.19%
3.27%
4.12%
5.2%




If a new course Z is started which has a total number of 2400 students and the numbe
boys is equal to the number of boys in course in course D, then find the ratio of number

of boys and girls in course Z.?

T Teh AT UTGHH Z JT& ohaT STAT 5 T Shet 2400 BT 2 R TTgeh! hl AT UTgashd D H UTGashd
H TRt chl HTAT & STeR §, A1 UTGATHA Z H TTgehi IR TgTohdl ohi TEAT ohT STTUTA T chiford?

TOTAL GIRLS

1.3:2
2.3:1
3.2:3
4.4:3
5.5:3




For which of the following course is the number of boy students the highest?

FreforRam & & et TTgeTshw 36 FoTT FTSeRT o STAY T HEET HR ST 3

TOTAL

GIRLS

1.A
2.C
3.F
4.D
5.N




If there is a course G, which has number of boys equal to 90% of that in course D
and number of girls equal to 120% of that in course D, then what is the ratio of total
number of students in course G to that in course D?

gt Uk I G &, N ureashw D | TTgeh! hl HEAT 90% o SIsR § 31 ergferat Y gear
UTEAHH D H 120% o IR 2, AT UTSTsHA G § BTAT sl el TEAT R UTSTsHA D | BT Y et
TEAT hT STTUTH FT 22

TOTAL GIRLS

1.11:12
2.15:14
3.7:3
4.4:3
5.11:4




In a grocery shop box A contains wheat worth 30rs pr kg and box B contains wheat =Y
worth 40rs pr kg. If both box A and B are mixed in the ratio 4 : 7 then the price of
mixture per kg is approximately ?

foRtT <t ganT o aiTerT A W 30 Tu T forarm ametT 1t 7 oK sfert B W 40 Hug g forum amer 7ig 21
afs ST A SR BT T 4 : 7%Wﬁﬁww%?ﬁrﬁr&waﬁmﬁr%m ATATT Ao
feraT2 2

.Rs. 32
.Rs. 36
.Rs. 30
.Rs. 40
.Rs. 42

o b WN -




A and B completed a work together in 6 days. Had A worked 1/3rd of his efficiency
and B's efficiency remains the same, then it would have taken them 10 days to
complete the task. How much time would it take for A alone to complete the work?

A 3R B Teh €T Teh &1 i 6 ToT & 90 ¥ §1 TS A ¥ 370 e7aT T 1/3 el fohar grar 3R B
T HIALTHAT T TEeAt, qT Ivg BTd W A H 10 TS TRTA1 Aher A it T ! O A | e
qug TRM?

1.15 days
2.21 days
3.6 days
4.12 days
5.NOT



